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Q1: Answer the correct option.

(20 M)

Ql. In IEEE floating point replesentatlon the Hexadeumdl number OXCOOOOOOO
_corresponds to.. RNy
Option A: | -3.0
Option B: | -1.0
Option C: | -2.0
Option D: | -4.0 <
Q2. Which of the following is used for binary multiplication?
| Option A: | Restoring Multiplication
Option B: | Booth’s Algorithm
Option C: | Pascal’s Rule i
Option D: | Digit-by-digit multiplication
Q3. In microprocessor the Instruction Cycle (IC), Fetch Cycle (F C) and Execution
Cycle (EC) are related as
Option A: [ IC=FC-EC
Option B: | FC=EC+IC
Option C: | IC=FC+EC
Option D: | EC = IC+FC
- Q4 : One instruction tries to wr 1te an opeland before it is written by previous instruction.
_| This may leads to a dependency called
Option A: | True dependency
Option B: | Anti-dependency
Option C: | Cutput dependency
Option D: | Control hazard
Q5. The main difference between a CISC and RISC processors is/arc that a CISC
; processors has a
Option A: | A smialler no of microinstiuctions
Option B: | Fixed length instruction format
Option C: | Fewer addressing modes
Option D: | Less registers
Q6. A register of microprocessor that stores the result of ALU operation is .....
Option A:" | Stack Pointer
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Option B:

Instruction Pointer

Option C: | Flag Register
Option D: | Accumulator
Q7. If the page no. is not found in TLB, Then, it is known as
Option A: | Page fault : '
Option B: | TLB miss
Option C: | TLB hit
|_Option D: | Cache miss
Q8. In segmentation, each address is specified by
Option A: | a segment number & offset ‘
Option B: | an offset & value
Option C: | a value & segment number -
Option D: | a key & value TR
Q9. Which of the following is not true about cache memory
Option A: | Faster memory than RAM :
Option B: | Volatile memory
Option C: | Smaller in size than RAM
Option D: | Sequential access memory >
Ql0. DMA tiansfers data between------=
Option A: | Memory and processor.
Option B: | Processor and I/0 devices.
Option C: | 1/O devices and memory. -
Option D: | DMA and Memory
Q2 Solve any four out of five (20 marks) 0S marks each
AL What is the role of MAR and MDR?
B | Explain floating point representation.
o > € | Compare hardwired and microprogrammed control units.
=D Write shot note on superscalar architecture.
E: - | Explain Flynn’s Classification
Q3 Solve any Two out of Three (20 marks) 10 marks each
A Explain direct and set associative mapping techniques in cache.
g : What are the instruction pipeline? What are the conflicts that occurred
B o during instruction pipeline?
C Explain Booth’s algorithm with example
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Q4 Solve any Two out of Three (20 marks) 10 marks each

State various types of data transfer techmques EXplaln DMA data tr;msfer
in detail.

Q| >

Explain multicore processor architecture w1th Dlock dlagram.'
Explain in details Bus arbitration techniques. - ‘
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